Review Warmup

1.

Using Newton’s Method, determine a third approximation to a root of x* — 3x*> + 4.1 =0 if the
initial anproximatienisx = 2.1. X, =2 _|
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2. For the functiony = x3, find the points on [0, 3 ] which satisfy the Mean value Theorem.
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Determine the linear approximation toy = ¥/x for x close to 8. Use the linear approximation to
approximate §/ 7.9 to three decimal places.
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4. Use differentials to calculate the approximate change in M when r changes from 20 to 19.9 and
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whereM = =. Determine the actual as well. —
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5. Find dy if y =sinx + x°
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